Potencias de 10 (D)

6,341 0,1

5,697-0,1

5,773 =0,1

6,366 0,1

3,567 0,1

8,341 +0,1

3,049 0, 1

4,341+0,1

8,67 0,1

3,589+0,1

Calcule los siguientes cocientes.

8,535+0,1

7,407 +0,1

6,28 0,1

5,676 0,1

2,711 +0,1

2,125+0,1

4,433 +0,1

2,45+0,1

0,764 =0, 1

9,75+0,1
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Potencias de 10 (D) Respuestas

6,341 0,1
63,41
5,697 0,1
56,97
5,773 =0,1
57.73
6,366 =0, 1
63,66
3,567 =0, 1
35,67
8,341 0,1
83,41
3,049 +0,1
30,49
4,341 =0,1
43,41
8,67+0,1
86,7
3,589 0, 1
35,89

Calcule los siguientes cocientes.

8,535=0,1
85,35
7,407 +0,1
74,07
6,28 +0,1
62,8
5,676 =0, 1
56,76
2,711+0,1
27.11
2,125+0,1
21,25
4,433 +0,1
44,33
2,45+0,1
24.5
0,764 +0,1
7,64
9,75+0,1
97.5
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